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QUESTION 1

For what does an interaction operator define semantics? 

A. a particular message 

B. a particular interaction 

C. a particular combined fragment 

D. a particular interaction fragment 

Correct Answer: C 

 

QUESTION 2

In the exhibit, how many of the arrows must provide values for the outgoing arrow to be given a value? 

A. none 

B. one 

C. two 

D. three 

Correct Answer: D 

 

QUESTION 3

What objects receive a signal sent by a BroadcastSignalAction? 

A. all objects 

B. objects are determined by semantic variation 

C. all objects that have a reception for the signal 

D. objects that are on the same node as the actions 
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E. objects that are instantiated from classes in the package of the action 

Correct Answer: B 

 

QUESTION 4

What types of features may a component possess? 

A. attributes and operations 

B. attributes, but not operations 

C. operations, but not attributes 

D. neither attributes nor operations 

Correct Answer: A 

 

QUESTION 5

What statement is true if a port delegates to multiple ports on subordinate components? 

A. multiple delegation is not allowed 

B. subordinate ports must be type compatible with the delegating port 

C. subordinate ports must collectively offer the delegated functionality of the delegating port 

D. at execution time, signals will be delivered from the subordinate ports to the delegating port 

Correct Answer: C 

 

QUESTION 6

In a state machine, what is true for a "do" activity of a state? 

A. can only appear in a composite state 

B. is equivalent to an entry action of a state 

C. starts executing when the state is entered D. executes repeatedly as long as the state is active 

E. specifies a condition that must always be true when the state is active 

Correct Answer: C 

 

QUESTION 7

What does a state list represent? 
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A. notational shorthand for a set of states 

B. list of the substates of a composite state 

C. set of states that share a single outgoing transition 

D. set of states that share the same entry and exit actions 

Correct Answer: A 

 

QUESTION 8

What symbol depicts a SendSignalAction? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: AC 
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QUESTION 9

What interface restrictions does a port have? 

A. multiple required interfaces or multiple provided interfaces 

B. multiple provided interfaces and multiple required interfaces 

C. equal numbers of provided interfaces and required interfaces 

D. exactly one provided interface or exactly one required interface 

E. exactly one required interface and exactly one provided interface 

Correct Answer: B 

 

QUESTION 10

To what does an internal structure of a class refer? 

A. the inheritance structure of that class 

B. the set of nested classifiers of that class 

C. the set of structural features of that class 

D. class and associations owned by that class 

E. the decomposition of that class in terms of interconnected parts 

Correct Answer: E 

 

QUESTION 11

A component may legally participate in which relationship(s)? 

A. dependencies 

B. associations and generalizations 

C. dependencies and generalizations 

D. dependencies, associations, and generalizations 

Correct Answer: D 

 

QUESTION 12

What is the meaning of a required extension? 

A. The extension must be applied at least once in a model. 
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B. This extension has a higher priority than the other defined in the same profile. 

C. An instance of the extending stereotype must never be linked to an instance of the extended metaclass. 

D. An instance of the extending stereotype must always be linked to an instance of the extended metaclass. 

Correct Answer: D 

 

QUESTION 13

Which is a correct representation of multiple extension and generalization/specialization? (Choose two) 
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A. Option A 

Latest OMG-OCUP-200 Dumps | OMG-OCUP-200 PDF Dumps | OMG-OCUP-200 VCE Dumps                               7 / 8

https://www.certbus.com/omg-ocup-200.html
https://www.certbus.com/omg-ocup-200.html
https://www.certbus.com/omg-ocup-200.html


https://www.certbus.com/omg-ocup-200.html
2024 Latest certbus OMG-OCUP-200 PDF and VCE dumps Download

B. Option B 

C. Option C 

D. Option D 

Correct Answer: CD 

 

QUESTION 14

How many arrows can connect to a partition? 

A. none 

B. one 

C. two 

D. any number 

Correct Answer: A 

 

QUESTION 15

What is NOT a purpose of a port owned by a classifier? 

A. serves as an end point for connectors 

B. specifies an association to the classifier 

C. hides the internals of that classifier from other classifiers 

D. provides a distinct point of interaction between the classifier and its environment 

Correct Answer: B 
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